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Aim

I can correctly use the order of operations to carry out calculations.

Success Criteria

* I know the order of operations.

I can use the order of operations to work out and check calculations.
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Multiplication Mayhem @

In pairs, fill in the missing numbers on the Multiplication Mayhem Squdre.

How many can you complete in one minute?

\ 23 ayTET

Click the

stopwatch for
a oge minute

0

[2)

)

AT

are some incorrect numbers; colour these in to show the errors.

Multiplication Mayhem

Fill in the missing multiples. Included in the multiplication square

1 2 3 4 5 [ | 7 8 9 |10 | 1|12

1 1 2 3 4 5 7 8 9 |10 11|13

2 2 4 6 8 |10 |13 14 16 |18 21 | 24

3 3 6 (10|12 |15 | 18 20 30 | 34 | 36

T 4 8 |12 20 | 23 28 | 32 40 | 44 | 48

T 5 | 10|15 (20| 25|30 35 40|46 |50 60

6 6 | 12 23 42 | 47 | B4 | 60 | 67 | 72
7 7 |14 2028 |35 49 | 56 0T

8 9 |16 | 24 56 | 65 81 | 88 | 96

9 }\ 18 7| 35 | 45 | 54 72 | 82|90 | 99 (108

@ oL Jo 50| 60 70 | 80| 90 | 101 | 110 | 120
/2103 44 | 55 | 66 To | 88 | 99 122

12 | 24 4G 4 96 120 | 132 | 144
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Missing Multiplication

Here are the answers:
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What Is BODMAS?

What do you think the answer to 45 + 9 x 5 is?

If only there
was a way to know
for sure...
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What Is BODMAS?

What do you think the answer to 45 + 9 x 5 is?

Follow our simple :
rule and you won't &
go wrong.
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What Is BODMAS?

Let's meet the BODMAS Squad.

I'm the first
member of the
BODMAS Squad.
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What Is BODMAS?

Let's meet the BODMAS Squad.

Some people
call me Eva

Exponent.
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What Is BODMAS?

Let's meet the BODMAS Squad.

I'm the third
member of the ¥
BODMAS Squad. 4/

L
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What Is BODMAS?

Let's meet the BODMAS Squad.

¥ I'm the fourth
member of the
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What Is BODMAS?

Let's meet the BODMAS Squad.
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member of the |
BODMAS Squad. A
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What Is BODMAS?

Let's meet the BODMAS Squad.

I'm the sixth
member of the
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What Is BODMAS?

So here we are: The BODMAS Squad.
Brackets, Orders, Division, Multtpllcatton Addition and Subtractlon
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What Is BODMAS?

Wow, that has \
" ( made the calculation |
Brackets so much clearer!
Order (exponents)
Division and Multiplication
Addition and Subtraction
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What Is BODMAS?

Let's try some more calculations.

145 - BBT=+1Q) =

We should
start with the

brackets. Brackets

Order (exponents)
Division and Multiplication
Addition and Subtraction
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What Is BODMAS?

Let's try some more calculations.

12415.8 + 4.5 =20

We should
start with the
division.

Which part of the
calculation should we Brackets

complete first? Order (exponents)
Division and Multiplication
Addition and Subtraction
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What Is BODMAS?

Let's try some more calculations.

41 + 87 « B&
We should
continue with the Brackets
division. Order (exponents)

Division and Multiplication
Addition and Subtraction

.
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Correct Calculation @

Which calculation gives the answer 757

' —HHWW%?HHH\E
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Correct Calculation

Which calculations give the answer 2527
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Correct Calculation

Which calculation gives the answer 207?
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Bonkers BODMAS

Use your marvellous maths skills to complete these activities:

ATAY NV) 0’5

BODMAS Calculation Cards

1 [ 1 can correctly use the order of eperations to carry out calculations ’
ments
e

lse the erder of g Match the caleulati Cut, sort and glue the caleulution cards into true or false state
our activity shea One calculation ha

True False

T2+ 4
a) (483 % 54)- 1

154 % 112 ¢

Q  14+1P-§

X AL R

9% 82
dy 583-(43 =

37 x4
@) 4x6T5%

598+
fo1st«3+3

9«3

\ Den't farget
Brackets
( Orders (exporents)
/) Division and Multiplication
Addition and Subtraction

hy  52.7 + 538

,
=3 F
&, 2
] 235 % 45 = Rk | ~, —
) 68467 +3E 10008 A
» . A ¥

|]l|x5—6l]:1ﬂ Bt+ 27 x3=243 ‘12‘?—3:2:86 ‘
|]20'56+l¢l&=]03 1000 - 571 + 429 - 0 ‘25'105’9‘37 ‘
|183rh5%5=27b S0-49 + 7= 43 ‘5\-5A+bzlci ‘

45 =9 +150 =159
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Diving into Mastery

Dive in by completing your own activity!

1) 4dd one pair of missing brackets to each of
these calculations to make them corvect:

8x6+12=60
81+6-3=
19+14x6
36-14+9

2) Add two pairs of missing brackets to each of
these calculations to make tham correct:

13x5-2=3x15-6

181-27+3=17%x29-19+2

1) Add ane pair of missing brackets to each of
these calculations to make them correct:

8x 6+ 12 =60
81+6-3=27
19 + 14 x 6 = 198
36-14+9=13

2) Add two pairs of missing brackets to each of
these calculations to make them carract:

13x5-2=3x15-6

181-27+3=17%29-19+2

Brackets Brackets
Orders Indices
Division Division

Multiplication

Brackets Brackets
Orders Indices

Division

Addition “ Addition

Subtraction n Subtraction

Addition Addition

Subtraction Subtraction

1) adam has carried out the
following calculations.
Laok carefully at his calculations and

deseribe the errors he has made with the
arder of operations.

20-4x2+16=43
6x(24+3)-4=10

2) @) Yanis solving this word problem. Which of these
calculations correctly shows the problem?
Cxplain your reasoning.
A class of 30 children ure going on u school Lrip.
The teacher is arganising the children into small
groups, She decides that each group will be made
up of 6 boys and 4 girls.

30+6+¢
30+ (6+6)
How: many groups

of children will
there be?

1) Adam has carried out the
following calculations.
Look carefully at his calculations and

describe the errors he has made with the
order of operations.

20-4x2+16=4%
6x(26+3)-4=10

2) @) Yan s solving this word problem, Which of these
calculations correctly shows the problem?
Cxplain your reasoning.
A cluss of 30 children are going on a school Lrip.
The teacher is organising the children into small
groups. She decides that each group will be made
up of 6 boys and 4 girls

30+6+4
20+ (6+¢4)
How many groups

of children will
there be?
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SN Ry 7 LN
pt - - 4
AN

712 -58 x 12 25 + (7% x 3)
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Aim

I can correctly use the order of operations to carry out calculations.

Success Criteria

* I know the order of operations.

I can use the order of operations to work out and check calculations.
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